1,2-°90014y (—RIBLE) Ll
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e AL L X E R ALIRRE —HRIREE 12 0.093 0.038 ~ 0.29
dtimE FLigmH L E3:05] —HRIREE 11 0.058 0.022 ~ 0.099
dtiEE ALIR TR X AREry— —HRIREE 11 0.073 ( 0.0060 ) ~ 0.19
dtimE fBJIIH M5 —HRIBEE 4 0.073 ( 0.043 ) ~ 0.15
e N Gl BIHNEB —HRIREE 12 0.09 ( 0.040 ) ~ 0.14
dtimE Vg I ESENENG) —HRIREE 12 0.09 ( 0.040 ) ~ 0.14
e FrEd BOHRIER —HRIREE 12 0.16 0.050 ~ 0.68
EHE &M IRINERD —fgIBiE 12 0.089 0.043 ~ 0.21
EHE ANkl BENERD —HRIREE 12 0.11 0.042 ~ 0.39
EHRE YAV INFINER D —HRIBEE 12 0.097 0.043 ~ 0.21
EFE R BEEB —HRIREE 12 0.081 0.040 ~ 0.15
EFE AT BT —HRIRIR 12 0.092 0.039 ~ 0.22
EFE dttrh dtEHFERE —HRIREE 12 0.13 0.063 ~ 0.30
HEFR —@h —EH=RER — IR 12 0.11 ( 0.040 ) ~ 0.29
EFE —Fi HER —HRIREE 12 0.10 ( 0.030 ) ~ 0.28
=HE WETERFR k375 — IR 12 0.14 0074 ~ 0.30
=EHE EHEREFX TR B —HRIREE 12 0.15 0.092 ~ 0.30
EHE bt il BE-—RBEATAER — IR 12 0.096 (< 0003 ) ~ 0.24
=EHE 5 B AR ST I T RXARESRETE —HRIREE 12 0.091 (< 0.003 ) ~ 0.19
=HE 33 FH AR iR 23 T EREER — IR 12 0.12 0.038 ~ 0.28
MEE BEH #INE —RIRE 12 0.12 0.036 ~ 0.44
W8 Wifgh Wi+ BETE —HRIRE 12 0.14 0.080 ~ 0.26
I} SBHETT BEEERER —HRIREE 12 0.13 0.075 ~ 0.20
EER LWhE NEEE)IETR — IR 12 0.18 0.040 ~ 0.78
EEE VWhEh BB — R BRE 12 0.15 0.047 ~ 0.35
EER VhEm KRB — IR 12 0.18 0.072 ~ 0.51
EEE B BB — R BRE 12 0.081 0.039 ~ 0.16
BER Jaticlo BEAEARTE — IR 12 0.12 0.042 ~ 0.19
RME KETH KERIB —IRERIR 12 0.10 0.041 ~ 0.21
RFE B B hH&E — IR 12 0.10 0.046 ~ 0.18
RNE +iEH TR EATS —RIREE 12 0.12 0.033 ~ 0.21
RPE Eii i) FEREHE — IR 12 0.10 0.045 ~ 0.21
HAR FHET PN —IRERIR 12 0.11 0.063 ~ 0.27
HARR RHH R T AEHEGERSE — IR 12 0.12 0.075 ~ 0.7
HAR AT KEFE —IRERIR 12 0.11 0.060 ~ 0.16
HAR AHRT BitEEEL TS~ —HRIREE 12 0.11 0.069 ~ 0.15
HARE THh AEER —IRERIR 12 0.11 0.067 ~ 0.16
J:0E i) BB — IR 12 0.13 0.061 ~ 0.32
BT PEARE —IRERIR 2 0.11 0.11 ~ 0.11
BT BEXM — IR 2 0.10 0.097 ~ 0.11
AHET ABR—#B —HRIREE 6 0.12 0.054 ~ 0.21
BET AR — IR 6 0.14 0.060 ~ 0.26
#I HIE1T—MD —HRIREE 6 0.13 0.063 ~ 0.26
faalih REE1—RB — IR 5 0.13 0.078 ~ 0.22
BER SMVEFERAER AEREFHR — g IR S 12 0.086 0.039 ~ 0.16
HES SVEFEHHRRK BERFHRELIS— — IR 12 0.085 0.038 ~ 0.15
BER SWVeEhiAMX SWVEEHERAER —HRIREE 12 0.088 0.044 ~ 0.16
HES SVEFEH AKX WEAIE R —IRIRIR 12 0.091 0.039 ~ 0.17
BER SWVeEH AKX EWAER —HRIREE 12 0.085 0.038 ~ 0.17
HES JIIE: s ) E B — IR 12 0.14 0.060 ~ 0.39
BER JIgT N ERAIER —HRIREE 12 0.13 0.056 ~ 0.36
HES AT BEAB — IR 12 0.11) ( 0.025 ) ~ 0.30
BER nam NAHZAER —HRIREE 12 0.12 0.055 ~ 0.34
HES g NEOHEFRERS — IR 12 0.12 0.056 ~ 0.36
BER A iR LHRER — g IR S 12 0.086 0.049 ~ 0.12
HES AR REAURAER —HRIREE 12 0.086 0.053 ~ 0.11
BER A BHENFERCE —HRIBEE 12 0.11) 0.045 ~ 0.32
HES AT EUANI ] —IRIRIR 12 0.11) ( 0.025 ) ~ 0.29
BER =kl HFHEBHRA —HRIRIE 12 0.13) 0.048 ~ 0.38
HES BATH HEAH —HRIREE 12 0.11 0.055 ~ 0.34
FER FEHHRR BES —fRIBIE 12 0.17 0.034 ~ 0.39
FER FEHHRR )P —HRIREE 12 0.13 (< 0.009 ) ~ 0.26
FER FENKX FEHKER —fRIBIE 12 0.15 (< 0.008 ) ~ 0.37
FER FEHEER AR —HRIREE 11 0.14 (< 0.008 ) ~ 0.41
TEE BkF T BB RIS T A — BB 12 0.13 ( 0.056 ) ~ 0.21
FER i I EAD —IRIRIR 12 0.10 ( 0.0080 ) ~ 0.48
FER AtE™ MBERER —fRIBIE 12 0.14 (0013 ) ~ 0.32
FER FELLT FELETERBD —HRIREE 12 0.14 0.094 ~ 0.21
TEE wWEM WERAD —fRIBIE 12 0.11 (< 0012 ) ~ 0.48
FER oz ki) R E 0 R AR —HRIREE 12 0.50 0.11 ~ 3.6
TEE Kil5:Xid HBARAED —fRIBIE 12 0.28 0.057 ~ 1.4
FER BBl HERRE —HRIREE 12 0.13 ( 0.063 ) ~ 0.25
FER BiEh BEARB —HRIBEE 12 0.13 ( 0.075 ) ~ 0.22
FER =Eidit] BHERER —HRIREE 12 0.13 ( 0.038 ) ~ 0.22
FER F R AR E AT REBVIN— ATV~ —HRIBEE 12 0.14 ( 0.070 ) ~ 0.25
AR FHREX BEAREQAERS —HRIREE 12 0.12 0.052 ~ 0.19
IR PRX PRREEED —fRIBIE 12 0.11 (0040 ) ~ 0.22
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FHIRER HEX ERRRHED —HRIREE 12 0.11 ( 0.040 ) ~ 0.15
IR KHK REENMMREEHESIRANER —HRIBEE 12 0.13 0.048 ~ 0.22
FHIRER AHX AHRRHERD —HRIREE 12 0.13 0.060 ~ 0.23
FHIRER A A X HASRHEESE —fRIBIE 12 0.11 0.060 ~ 0.16
FHIRER FEINR FNREFERER —HRIREE 12 0.12 0.050 ~ 0.24
FHIRER RIEX RIEX AR S —fRIBIE 12 0.11 (0050 ) ~ 0.16
AR BEX BEXGMHIAE —HRIREE 12 0.11 ( 0.050 ) ~ 0.16
RImER IR RIRFEHHE — IR 12 0.12 ( 0.040 ) ~ 0.23
AR IFRIX AFNREIRG —HRIREE 12 0.13 0.060 ~ 0.31
RImER NEFH AEFHE —RERE 12 0.098 0.044 ~ 0.19
AR NEFH AEHR —HRIREE 12 0.099 0.040 ~ 0.19
B INE T NS HTEARTE —iBIEE 12 0.12 (0050 ) ~ 0.19
AR AT RAMTERIER —HRIREE 12 0.12 ( 0.050 ) ~ 0.18
FHIRHD 78 2 AR R AT B ERERE — IR 12 0.11 0.060 ~ 0.18
BRINE  |BETRK BE=RNERBD —HRIREE 12 0.12 0.056 ~ 0.24
#ENE BT HRRR PRAIER — IR 12 0.14 0.051 ~ 0.35
BWRINE T % BE X SEAER —HRIREE 12 0.14 0.057 ~ 0.24
#ENE  [AERTHRE HRFTRIER — IR 12 0.11 0.046 ~ 0.21
BWRINE FiR BINERB —HRIREE 12 0.12 0.049 ~ 0.21
#ENE  |ERH BRI EAE —HRIRIR 12 0.15 ( 0.056 ) ~ 0.39
BRI |ERE HIFT RN —HRIREE 2 0.18 0.15 ~ 0.22
#wENE  [DERT MNARTRTE — IR 12 0.12 0.035 ~ 0.36
BwRINE  |EZHH EHEHRAB —HRIREE 12 0.11 0.032 ~ 0.32
#wENE  |EAH EXRTEEB —HRIREE 12 0.10 0.035 ~ 0.29
#WRNE  |[HWARD BRITREVA—ME —RIREE 12 0.14 0.047 ~ 0.36
#wENE  |[HERT HAETHEEE SR —iRIRIR 12 0.15 0.055 ~ 0.34
HiRE FRmR HNER —RIREE 12 0.21 0.068 ~ 0.74
HRE RET RETESHKE — IR 12 0.11 ( 0.038 ) ~ 0.22
=g = BELZER —IRERIR 12 0.26 0.057 ~ 1.6
EWR F=1co ki) BRERAS — IR 12 0.12 ( 0.040 ) ~ 0.42
=g A AR —IRERIR 12 0.12 ( 0.030 ) ~ 0.39
=g Sk M ABILE — IR 12 0.12 ( 0.030 ) ~ 0.41
F)IE tEm tERAER —IRERIR 6 (0.023) (< 0.006 ) ~ (< 009
RINE MR IMRRIER — IR 6 (0.023) (< 0.006 ) ~ ( < 009
BHE fizEadicl BHB —IRERIR 12 0.12 ( 0.028 ) ~ 0.36
BHE fiEadit) BHEHE — IR 12 0.22 ( 0.066 ) ~ 0.47
BHE HEH HMAEHR —IRERIR 12 0.12 ( 0.061 ) ~ 0.34
BHE figiTh EaliNo) — IR 12 0.19 ( 0.057 ) ~ 0.46
BHE wF ZER —IRERIR 12 0.25 ( 0.059 ) ~ 0.51
WHE )Gl PRHELRAERS —IRIRIR 12 0.12 ( 0.013 ) ~ 0.22
WS Et&EAN HHAER —HRIREE 12 0.15 (< 0024 ) ~ 0.42
I XA XABER — IR 12 0.12 ( <0012 ) ~ 0.24
RHE RHMH BRRLMERE —HRIREE 10 0.15 0.12 ~ 0.24
RHE ptaditl BIFHAES — IR 12 0.063 (< 0.006 ) ~ 0.17
RHE AT WEB —HRIREE 10 0.15 0.12 ~ 0.18
RHE i LtEB — IR 10 0.21 0.15 ~ 0.40
RHE FE & e £ 5 —fRIBE 10 0.15 0.11 ~ 0.21
EHR it i) —HRIREE 10 0.15 0.12 ~ 0.19
RHE B FHRE —HRIREE 10 0.19 0.14 ~ 0.29
IR B IR Ik BB 77 Ik B2 7 AL &I TE S — IR 12 0.12 0.057 ~ 0.24
It B2 I8 Iz B2 77 PRAER —fRIBIE 12 0.12 0.068 ~ 0.23
IRER KiEH |BAIE AR & A& — IR 6 0.13 0.074 ~ 0.33
il FE AKX EEAER —HRIREE 12 0.13 0.057 ~ 0.25
BRER BRI EX BRig/NFEBIE R — IR 12 0.14 0.055 ~ 0.28
il % 0] i B AT X REBPERAED —fRIRE 12 0.14 0.053 ~ 0.29
ERER R EX BEANRAES —HRIREE 12 0.14 0.055 ~ 0.26
FRER R TEKE BRERE—NFRAES —HRIBEE 12 0.13 0.064 ~ 0.22
ERER R X LEBER —HRIREE 12 0.22 ( 0.053 ) ~ 0.54
FRER BHETH BHETG&EE —HRIBEE 12 0.11 (< 0.004 ) ~ 0.22
ERER =t BRI —HRIREE 12 0.13 0.048 ~ 0.39
FRER AT BRAHEAD —HRIBEE 12 0.12 (< 0.004 ) ~ 0.21
ERER #ih BIHREFS —HRIREE 12 0.11 (< 0.004 ) ~ 0.20
FRER Ersiiiil KAMERAD —HRIBEE 12 0.12 0.038 ~ 0.20
FHE AEETFER EREEER —HRIREE 12 0.15 0.048 ~ 0.56
BHE ZEET I EAXFE —HRIBEE 12 0.34 0.11 ~ 0.84
BHME AEETHER BKDNERD —IRIRIR 12 0.14 ( 0.061 ) ~ 0.31
BHE 28h PN 1) —HRIBEE 6 0.17 (< 004 ) ~ 0.38
BHME 2iEh y[1)5] —HRIREE 6 0.19 0.10 ~ 0.37
BHE FE] B T T RS RELYS— —HRIRIE 12 0.095 0.034 ~ 0.15
BHME ZHEh o B0 5 (= EFHT) —HRIREE 12 0.15 0.090 ~ 0.28
BHE NETH MNEERE —HRIBEE 12 0.077 0.030 ~ 0.20
FHE R HiETEARNERE —HRIREE 12 0.087 0.026 ~ 0.25
=ER /4 B LtESKAER —HRIBEE 12 0.23 0.054 ~ 0.60
=58 el Niekii e mEESRAER —HRIREE 12 0.19 0.057 ~ 0.73
7 R RS RN —HRIREE 12 0.13 0.058 ~ 0.29
g2 B2 ZEREATE —HRIREE 12 0.15 0.065 ~ 0.34
7 B#Em FE Ry PR —HRIREE 12 0.14 0.055 ~ 0.34
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HER R EHHREYS— —HRIREE 12 0.10 0.037 ~ 0.41
HEE EiR EiRB —HRIBEE 12 0.12 0.042 ~ 0.20
HER RIEM RER —HRIREE 12 0.12 0.051 ~ 0.22
HEE 3E i 2B —HRIBEE 12 0.12 0.045 ~ 0.22
HER BEh BESERETE —HRIREE 12 0.13 0.050 ~ 0.34
HEE AN ] FELE —HRIBEE 12 0.12 0.051 ~ 0.21
SEERRT R R RX ki ek 430 ) —HRIREE 12 0.12 0.055 ~ 0.25
SRARAT RETHEX EFEREELEEYS— —HRIREE 12 0.14 0.056 ~ 0.29
SEERRT AR A 4L T AHELE —HRIREE 12 0.20 0.078 ~ 0.33
KBRAF KR FEHX EBPERE —HRIRIR 12 0.15 0.049 ~ 0.36
ABRAF ABRTILR RG] —HRIREE 12 0.13 0.037 ) ~ 0.33
KBRAF R R ENER —HRIRIR 12 0.15 0.053 ~ 0.30
ABRAF R AR EXER —HRIREE 12 0.15 0.057 ~ 0.28
KBRAF il FHB —HRIRIR 12 0.18 0.068 ~ 0.43
ABRAF W 1 wHEMLEEED —HRIREE 12 0.18 0.081 ~ 0.41
KBRAF =t it EFE —RERE 12 0.17 0.053 ~ 0.44
ABRAF BwAH WA TR —HRIREE 12 0.19 0.074 ~ 0.37
KR AT INETH NEREBFE — IR 12 0.15 0.056 ~ 0.36
ABRAF RIEFFTH EHPERBD —HRIREE 12 0.13 0.061 ~ 0.24
KBRAF EHEMT EARTREH —HRIREE 12 0.13 0.059 ~ 0.24
ABRAF BRIH BRIIH&RFB —HRIREE 12 0.13 0.062 ~ 0.27
KBRAF BRAFFH BAFHRABD —RERE 12 0.13 0.059 ~ 0.24
ABRAF AR BAREEVI-B —HRIREE 12 0.22 0.12 ~ 0.51
KR AF RART REHERECLVI-B — IR 12 0.22 0.11 ~ 0.60
REER HWEHEER EEEBASAER —RIREE 12 0.21 0.052 ~ 0.46
EER HEH P RX EERKBAES — IR 12 0.24 0.038 ~ 0.54
REER HWEMIERX BEHASAER — IR 12 0.19 0.017 ~ 0.36
EER JEERTH INRBIER —IRIRIR 12 0.15 0.044 ~ 0.33
REER BT B HERE —RIREE 12 0.18 0.073 ~ 0.36
EER BaTH KAREEEVE— — IR 12 0.20 0.089 ~ 0.49
EEE mEth BEHERAS —IRERIR 12 0.18 0.046 ~ 0.36
EER il il Ll Rk dzil o) — IR 12 0.32 0.088 ~ 0.95
EEE [=elo)i] EO0HERE —IRERIR 12 0.18 0.070 ~ 0.61
=RE =R FHEBPER —IRIRIR 4 0.19 0.011 ~ 0.36
Z=REE 3= FBHATELAER —RIREE 12 0.18 0.0070 ) ~ 0.38
=RE AFEA LT EBLLIBRFD 5K S — IR 12 0.12 < 005 ) ~ 0.32
Z=RE K XEF —IRERIR 12 0.12 < 005 ) ~ 0.30
MR [FoFril KA — IR 12 0.15 0.096 ~ 0.25
MPLE  |F0Fal SARII31- T4V~ —IRERIR 12 0.15 0.083 ~ 0.24
MEILE  |EET BEHERHE — IR 12 0.15 0.021 ) ~ 0.62
MR HH FHTHEARER —fRIBE 12 0.094 0.017 ) ~ 0.26
BRE B ERESIRERD — IR 1 0.16 0.16 ~ 0.16
BEE SW ERETANDTE — IR 10 0.13 0.053 ~ 0.22
BRE RF BEREXFREFRS — IR il 0.13 0.065 ~ 0.23
BWE ==l EREREREFMD —HRIREE 11 0.13 0.052 ~ 0.21
BiRE HTTH EFITH — IR 12 0.19 0.067 ~ 0.39
SiRE WL TEMAED —HRIREE 12 0.18 0.053 ~ 0.33
BiRE /AP i} EEAEHS — IR 12 0.17 0.054 ~ 0.32
BiRE BRI AREDSE | EREIRD — g IR S 12 0.14 0.040 ~ 0.40
FE LR FE L b X BRI — IR 12 0.14 0.041 ~ 0.34
EIE ] L T R X B INER —HRIREE 12 0.14 0.039 ~ 0.37
R LR =L il BRENE — IR 12 0.12 0.079 ~ 0.23
EIE 2l EEERB —HRIREE 9 0.13 0.039 ) ~ 0.31
R LR EHh EHFmIAETREYS— —IRIRIR 12 0.12 < _0.026 ) ~ 0.28
EIE ANl EFERTAED —HRIREE 12 0.12 <_0.026 ) ~ 0.27
=15 EEMFEX HONPRAES —HRIREE 12 0.23 0.060 ~ 0.70
=1 LEETMRERRK RIEBAREAAERD — BB 12 0.21 0.054 ~ 057
=15 A BRNERE —HRIREE 12 0.22 0.091 ~ 0.53
LER A HENERED —fRIBIE 12 0.23 0.087 ~ 0.60
=15 &l BNERS —HRIREE 12 0.17 0.051 ~ 0.35
LER &l WKNERE —fRIBIE 12 0.14 0.054 ~ 0.25
=15 RIS RESAENERD —HRIREE 12 0.15 < 0.023 ) ~ 0.44
wag TR TETRMERS —fRIBIE 12 0.24 0.092 ~ 0.38
wng T ABNER —HRIREE 12 0.21 0.052 ~ 0.42
wng Fxift FEEENLII-B —HRIBEE 2 0.11 0.10 ~ 0.12
wng il B R i % P B —HRIREE 2 0.080 0.067 ~ 0.092
wag Nl EHNERE —HRIBEE 2 0.28 0.28 ~ 0.29
wng EEH HRERNEERB —HRIREE 12 0.25 0.056 ~ 0.77
wog LLiB5s /N BF B T BIPERE —HRIBEE 2 0.24 0.17 ~ 0.32
wog AT ERFOAHT MAIZAZTFA—tV-RB —HRIREE 2 0.17 0.11 ~ 0.23
EER STl i)l —fRIBIE 12 0.28 0.073 ~ 0.79
mER B E T XiBB —HRIREE 12 0.16 0.093 ~ 0.27
F)E f=t /il BMHAXRIZAZT VA~ —fRIBIE 12 0.12 0.034 ~ 0.19
FIE EaR- Xl ABHED —HRIREE 12 0.23 0.11 ~ 0.61
F)E R R RS —HRIBEE 12 0.23 0.097 ~ 0.58
E)E bteetil HEER —HRIREE 12 0.24 0.10 ~ 0.62
Fg FI A E SHT ESH&ISE —HRIBEE 12 0.24 0.086 ~ 0.62
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ZEE LATTN;) EARE —HRIREE 6 0.086 0.058 ~ 0.12
BRER FHSH BEPMAER —HRIBEE 12 0.034 (< 0007 ) ~ 0.20
ZEE FEET BPFEL-ZMXELVI— —HRIREE 12 0.057 (< 0.007 ) ~ 0.18
SR F=¥sihn NERE —HRIBEE 6 0.16 (< 0025 ) ~ 0.66
EAHE B HER —HRIREE 6 0.15 (< 0025 ) ~ 0.49
=l AT ABEEFRE —fRIBIE 12 0.16 0.067 ~ 0.27
EHE AR DET FHEERTERD —HRIREE 12 0.17 0.070 ~ 0.35
fEER JE A M AT B EWERAB —HRIREE 12 0.20 0.074 ~ 0.35
1akE 8 EhMEAELR [AMBRD — g IR EE 12 0.22 0.11 ~ 0.45
12 R trmMmNEER |HREREE —HRIRE 12 0.19 0.072 ~ 0.37
fEmE B R i) —HRIREE 12 0.25 0.073 ~ 0.67
1akE R EEHESX H5EB — IR 12 0.26 0073 ~ 0.65
fEmE B X 1) —HRIREE 12 0.26 0.072 ~ 0.62
1akE R AEATH ERALAR GRTHE) — IR 12 0.20 0.077 ~ 0.42
fEmE e il B —HRIREE 12 0.22 0.041 ~ 0.67
fEER =y ditl EEEPNEEL S~ —HRIREE 12 0.20 0.0059 ~ 0.75
EEE EEH EER —HRIREE 12 0.19 ( 0.068 ) ~ 0.33
EEE FHEER b ) —HRIREE 12 0.21 (0067 ) ~ 0.53
RIgE RIgH Ny -5%;ilo] —HRIREE 6 0.16 0.062 ~ 0.41
RIGE HET REASAER — IR 6 0.18 0.081 ~ 0.46
RIS *EH I 3% et B Bl 4 RS FE PR —RIRE 12 0.33 0.055 ~ 1.0
BEAR REATH KT sk AR —HRIREE 12 0.14 0.063 ~ 0.29
BEXE EX il EX ik 4zl —HRIREE 12 0.11 (< 0027 ) ~ 0.18
AR i t] FFHRERAER —iRIRIR 12 0.19 0.054 ~ 0.50
AHE i PERATER —RIREE 12 0.25 0.10 ~ 0.54
AR BHAT AR R AT — IR 12 0.22 ( 0.085 ) ~ 0.80
=BG BT I T L B E A — IR 12 0.14 0.058 ~ 0.27
=IBER SEFE SEFE R AT S — IR 12 0.12 ( 0.014 ) ~ 0.36
HiEE HEh L ER AR —RIREE 12 0.12 0.041 ~ 0.28
BERER BRET itk 47l — IR 6 0.16 0.063 ~ 0.35
BERSE |BEM EEHEERELYS— —IRERIR 6 0.15 0.080 ~ 0.33
ERER |BEW BER — IR 6 0.14 0.062 ~ 0.28
ERBE |[fEoFm BEOFhHRA —IRERIR 6 0.15 0.062 ~ 0.26
pEBIR AERT BB — IR 6 0.20 0.026 ~ 0.57
Bkl T Pkl o) —HRIREE 12 0.18 ( 0.024 ) ~ 0.45
pEBIR 3Rz 4ie) HERERERE — IR 12 0.18 ( 0.024 ) ~ 0.43
Bkl (58 2R E SE AT ] 35 320 7 Wl 4 RIS E T —RIREE 12 0.16 0.023 ~ 0.36
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1,2-Y"yAn14y (EEH 4 REED) 74
MERRE A BT AE T T Wi g OB
EFR BEW sEamlFREE I~ EEFRERED |12 0.11 0.034 ~ 0.30
EFR dt AT EEFERED |12 0.37 0.082 ~ 11
EFR S ER 1 FH BT EHA—RRR EEFRERED |12 0.10 0.037 ~ 0.29
FER BB BISTH (HAIER) EEFERED |12 0.11 0.061 ~ 0.34
R b i) HEHD BEEHEFERD (12 0.85 0.085 ~ 4.3
FBR BTl I TIEAD EEFERED |12 0.15 0.066 ~ 0.35
BER E)155) ETEMANE EEFERED |12 (0.14) ( 0.035 ) ~ 0.39
FER R HREIBTED BEEREFRED |12 1.3 0.13 ~ 52
FEE hERET BIERIER EEFERED |12 0.93 0.13 ~ 3.2
FEE MR B ch R T EERERRD (12 0.30 0.11 ~ 0.85
FER MR IRRITE 1B EEFERED |12 0.20 0.12 ~ 0.46
FER MR BRI BEERERED |12 0.19 0.076 ~ 0.44
FER D i) HWrHR#ED EEFERED |12 0.20 0.14 ~ 0.39
#WEINE  |BETBRX BRREARKITYR BEEFEERED |12 0.12 0.064 ~ 0.20
E BN T R X PREWE EEFERED |12 0.15 0.056 ~ 0.45
#WEINE T ) IE X BRG] BEEFEERED |12 0.14 0.051 ~ 0.22
E BN JN |0 ) 10§ X KENBIERD EEFERED |12 0.14 0.052 ~ 0.21
#WEINE NI T ) IE X M ERERD BEEFEERED |12 0.13 0.057 ~ 0.20
E BN FiRH J\BB/INEAR EEFERED |12 0.12 0.062 ~ 0.21
HRR HBTRX KB BEEFERED |12 0.081 0.044 ~ 0.12
HRE il e EEFERED |12 0.11 0.044 ~ 0.23
HBE wET KIBD BEEREFRED |12 0.11 (0030 ) ~ 0.25
HRE L BEED EEFERED |12 0.12 ( 0.029 ) ~ 0.26
HBRE il PEB EEHEFRD (12 0.100 (< 0012 ) ~ 0.25
EWR s EEXEE BEEFERED |12 0.13 ( 0.060 ) ~ 0.43
ZHME F AT FHEHTRERD EEFRARED |12 0.089 0.031 ~ 0.26
=1 /e B i ZERER EEFERED |12 0.18 0.054 ~ 0.47
HER R KEFEIOEVE— EEFRAERED |12 0.13 0.056 ~ 0.23
KERAF AIRATAIERX FERNERE EEFERED |12 0.13 ( 0.034 ) ~ 0.36
RIRAF RIRATHER LB EERERRD (12 0.14 (0039 ) ~ 0.36
KBRAF RKEM RAETRFB EEFERED |12 0.15 0.067 ~ 0.25
EEE 1 T A X REMEBEANER BEEFEERED |12 0.82 0.068 ~ 74
EER AT REX HERTAER EEFERED |12 2.0 0.040 ~ 17
EESR R X HEXTAER BEEFEERED |12 0.25 0.048 ~ 0.57
EER SRR SRR IR T Ak EEFERED |12 0.14 0.045 ~ 0.26
EER i mENE 12 0.18 0.040 ~ 0.39
EER hogs )i BB EEFERED |12 0.17 0.052 ~ 0.29
EER fstnn ERTAERY TS EERAERED |12 0.30 0.063 ~ 1.2
R LI R =L Gl W1 EEFERED |12 0.40 0.13 ~ 14
FE LR b=t qitl 85 EEHEFRD (12 0.14 0.093 ~ 0.20
FE LR =L 61l BERD EEFERED |12 0.13 0.078 ~ 0.19
FELLIR =1 il ZERHHE BEEFEERED |12 0.13 0.098 ~ 0.17
FE LR =L 61l RN 12 0.24 0.11 ~ 0.50
FELLIR =1 il BREEREVI-B 12 0.12 0.079 ~ 0.19
LEBR EEMREX HaAR 2R 12 0.22 0.052 ~ 0.55
LER LEETRER Bl /= H 3R Al 12 0.22 0.052 ~ 0.53
LEBR MR NRERB 12 0.20 (< 0023 ) ~ 0.99
LER isikaakith BhHEEC/ B 9 0.30 0.12 ~ 0.69
LEBR PN AMMRAEB 12 0.16 ( 0.049 ) ~ 0.34
LER b =ikl HARB 12 0.10 (< 0023 ) ~ 0.29
iT=]ty FEH FEHHRDINEN VI~ BEEFKERED |12 0.36 0.093 ~ 1.1
wng Amh AEBETER BEEREERRD (12 1.1 0.14 ~ 2.7
iT=]ty A EORIRELER EEFERED (2 0.42 0.32 ~ 0.53
BEER AREFARL SHT ElA=15] EEFRARED |12 0.19 0.084 ~ 0.28
RIBR et R TMERE EEFERED |12 0.09 (< 003 ) ~ 0.27
AR FEM REEHAED EEFRARED |12 0.20 0.081 ~ 0.39
KPR & FEL AR REE EEFERED |12 5.9 ( 0.11 ) ~ 47

@ FFHBEORTAE - FEHEN. & AORKRE FRERBTHLIHEE. ZOMBEEMEETRRLIVS,
Q@ REFEE (R/ME~RKE) ORTHE :
+ BRMERGHEKEOMEN. BETRERBETHIIGEE. [ < (EHBORETRE) JELTERTRLTNS,
- BR/MEREHRKEOEN, B TREU LEETFRERGTHIZBEE. [ CUEE JELTRRLTVS,
+ R/MER IR ATEDER . JIS Z 8401 THIEEAYD . ARHF2TELTRRLTNG, L, BEICHIEER TIRIEDHTETEL,

NS T OHTIERRLEL,




1,2-Y'970014Y (RiB) 74
WHRRAE st TS wunm | | U0 S
e AL R X E1EBHB BB 11 0.062 (< 0.006 ) ~ 0.16
deimiE AR R X RISTEHEHRE BiE 11 0.050 (< 0.004 ) ~ 0.083
e P\ il AH#HB BiE 12 0.08 (< 003 ) ~ 0.15
dtimE Fig JNERIER BB 12 0.17 0.047 ~ 0.67
=EHE EHERRK HER BB 12 0.15 0.066 ~ 0.31
EHE ETFRE BER BB 12 0.14 0.050 ~ 0.30
=EHE E:G 2MEBEHFHARAESD BiE 12 0.098 (< 0.003 ) ~ 0.23
AR i Eaiil BWEEHS il 12 0.11 0.036 ~ 0.35
RME b 1) THEPHER BB 12 0.12 0.071 ~ 0.30
BER FEEH FRIBEHE il 6 0.12 0.055 ~ 0.24
BER SVEEHAEX ZHEEHAER BB 12 0.086 0.044 ~ 0.16
BER SWVeEhER BAEHAIER BB 12 0.088 0.049 ~ 0.15
BER SWVeEH AKX EWHLEE aE 12 0.093 0.055 ~ 0.17
BER =y ENHEREHE BiE 12 (0.13) 0.052 ~ 0.37
BER FHf FHEXABHR BiE 12 (0.14) 0.046 ~ 0.34
FTER FHEAPRK FREREM(EH) il 12 0.14 (< 0.008 ) ~ 0.31
FER FEHERIIK EHRAEBEHFHTR BiE 12 0.12 (< 0.008 ) ~ 0.31
FER ikl TBRITE R il 12 0.13 0.055 ~ 0.20
AR IRX REEREFH BB 12 0.14 ( 0.040 ) ~ 0.32
RImER AR B/\ED/\ELE BiE 12 0.12 0.060 ~ 0.17
BWRINE  |BENRFR B REED aE 12 0.14 0.065 ~ 0.31
#RNE |[HWETFERX FERERZEZRR BB 12 0.20 0.069 ~ 0.38
BwRINE FiR HENERD mE 12 0.12 0.054 ~ 0.21
RIS XFnh AHNTRRERERD il 12 0.11 0.034 ~ 0.34
HRE REH W BB BE 12 0.12 0.046 ~ 0.22
RIINE Fr it HFAmBERS BiE 6 (0.023) (< 0.006 ) ~ <_0.09
WS s BTFEEBEHNAE HiE 12 0.12 (< 0012 ) ~ 0.24
Y R R T ESBBEHFIAE il 12 0.12 (< 0012 ) ~ 0.24
RHE Pt adin) SREME B 12 0.061 (< _0.006 ) ~ 0.16
RHE AV i) WEAERERD il 10 0.18 0.14 ~ 0.20
iy R HEKX BHEBAAER BB 12 0.12 ( 0.0031 ) ~ 0.22
E5MEI2 EMTHRR R-257BIE BiE 12 0.21 ( 0.049 ) ~ 0.45
iy =5 BH=8RB BE 12 0.13 0.044 ~ 0.37
MR AHEMILR L TKERILEERE BiE 12 0.12 ( 0.050 ) ~ 0.22
BHE AEETTHER EBE BE 12 0.13 0.066 ~ 0.29
MR HEETHER Aithid BiE 12 0.13 ( 0.059 ) ~ 0.27
BHE 2i8th SER HiE 6 0.17 (< 004 ) ~ 0.33
FHE FE] U 77 BT ATEXTAERD M 12 0.097 0.032 ~ 0.16
FHE fR® TRRMEAE B 12 0.085 0.032 ~ 0.27
FHE BARERAR B AT REEBHEHEARAES miE 12 0.16 0.038 ~ 0.73
=) g Ei&E23 5 #hEE il 12 0.17 0.048 ~ 0.38
HER 3 i BHEER miE 12 0.12 0.041 ~ 0.21
ABRAF R RK FIRAED BE 12 0.16 0.059 ~ 0.33
KR AT WA WHESHLIFS miE 12 0.18 0.078 ~ 0.34
ABRAF INETH AFER BE 12 0.16 0.056 ~ 0.32
EER mEh BHEE miE 12 0.27 0.062 ~ 1.6
EEE EEm BB BE 12 0.20 0.053 ~ 0.42
EER JI1EiiNs) MxED BiE 12 0.31 0.13 ~ 0.64
ZRE BRN BHERE BE 12 0.12 (< 005 ) ~ 0.31
MR [EHT IE HIHA S HBHAAR BiE 12 0.11 ( <0013 ) ~ 0.23
BWE SW RERERD BE 11 0.13 0.052 ~ 0.20
BRE RF RFHRAED il 11 0.13 0.063 ~ 0.22
EIE HZERR R SHT REATAER BE 12 0.11 (< 0026 ) ~ 0.27
N1 INETEIES HARWBIER BiE 12 0.22 0.053 ~ 0.58
=15 =% ZREHER R 12 0.14 (< 0023 ) ~ 0.37
=15 &l BMERB BiE 12 0.16 0.047 ~ 0.43
EER BE™ BHESE BE 12 0.16 0.067 ~ 0.27
fEEE AN/ \BEREX | FEARTRIERT BB 12 0.19 0.063 ~ 0.34
EEE ERETERKX EHD BE 12 0.27 0.073 ~ 0.65
fEEE 1| BR & R ET EEBHER BiE 12 0.20 0.046 ~ 0.74
RIGE RIE™H RIGH A REESEHHIZAER BE 6 0.19 0.059 ~ 0.54
RIGE EHRE BEAER BiE 12 0.12 ( 0.050 ) ~ 0.37
N REXT™ KERTE BE 12 0.14 0.058 ~ 0.30
BEXE I\ NRBEHE BB 12 0.13 (< 0022 ) ~ 0.28
AR B RF T JLERRERY 15 e 12 0.19 0.084 ~ 0.33
BEREE FEEE)I| AT TEENNB BB 6 0.14 0.059 ~ 0.21
ERESE |ARW BER il 6 0.13 0.056 ~ 0.24
hERE bak il HIED BiE 12 0.18 ( 0.026 ) ~ 0.43

O FEHEORTHE - FFHEN. EAORKRETRERBTHLISEE. TOBEEEMEETRRLIVS,
@ REHR(R/ME~RKE) ORTHE :
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- R/MEXFHRAEOEN . R TRIEULEETRERBTHIIHEE. [ GAIEE JELTRRLTS,
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